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. LECTURENG.5

08.01.2022
BRELLG BEVERYONE!
Thetext: e o
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Lot us begin with the first sentence,
ey A d 0y Akt laalt Jal o dady 20a G S B aalie Ol add

A A MG 3 g
Student: For monihs, the administration of Bide

n hius announced that
the conference of the summit for the democracy g Jorming a best chance
Jor repl aguainst grovwing or increasing lvranny

Professor: Why do you use the present continuous here in ‘is
forming™? You should ot use it iike this.
r“\‘]ﬂ: can say,

T e e .

| oy o Blden’s Summit for Democracy Starts T
For months, Bidew's administration announced that the conference of
the summit for democracy forms a real/key Opportunity to push back

i T e _—_—_——-__—__'_'_"'——--———““——'--———_.__
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again:« < syranny. 4
o kick off o8l i i GERIT
e Tush back &aay
e Growing/increasing 3 jia
* Authoritarianism/tyranny 1)
Now the next sentence:
el 058 O iy Adda Lgalsh Al A o sAS e A WA sty JBs
Abialllsda Y elS VY o Uagasal b (iaday
Student: 7). Secretary of State Antony Beckon said, “The Crisis we
face is real. You have to be clear and united in our [insistence] to rise to
this moment. "
Professor: Excellent. Pay attention to the quotation marks. You should
put quotation marks in your transiaticns also.
We can say,
; “The Crisis we face is real,” U.S Secretary of Stzie Antony Beckon said,
| "We must be clear-eyed and united in our determination to rise to this
| moment.”
o US Secretary of State 48y 3 42 &4 559
o Determination psaai
o Rise @iy
Now the next sentence: : ' L
b1 el S 13 La ) Jia Sy el gl b (o el palh Aakl) U g0 08
Apuse @il ) g3 8 s 1) L gl Caaadl) odn aiiad b Jadlly solud ol aa
Student: But with the starting of the suimmit today, it is quite unclear if
ally help in ochieving tic idrgefs ov it would De ...

fiis st will aciv
Professor: Ok.
ip.Se i3 would be ‘counter-productive” o “backfire,”
Motice that you need the adverb for the adjective here.

3 ia JS5 el N 8 (e

o
oy

it would be ‘increasingly unclear.’

stagent: Bul foday swith the rising of the summil, it becomes
increazingly unclear if the summif will liefp in achievement these godls or
if it ieads to counter-productive resulls. '

Professor: What is ‘with the rising™ You can say, Bu! todav, as the
sunii kicks offistarts ....

This is the structure I am telling you abouit.

student: But today, as the summit staris it becomes increasingly
unclear if the summit will help in achievement these role or if it maybe

TPolitic - T 732 BHAE” 3 C RO 20ZLI T2
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a 7 i Its.

d to counte _productive resy .

. P:ofcssor' ‘in achievement .these goals’ 15 Wreng here. You can say
____--——-—'

something like:

o Inachievement of

e Inachieving

Also. you said ‘thes¢ role.
noun. This is another mistake.

Ail such mistakes you will be merked for. o

i) i gl O ppladin eilad ¥l oda S

I addition, you have ong ware mistake, It is wrong to say ‘it mavke
Jead to..." you should say: ‘it may fpad.’

Who would like to try also?

Student: But with the warting today of the summit it becomes
increasingly unclear if the summii will help this cause or if it leads ¢
reversed resulls.

Professor: reversed resulls is “astie sl fusSas ZU8, [t is better to say
‘whether it could actually backfire.” Backfire means it gives counter-
productive results.

We can say, :

» These is for the plural and role is a singulay

But with the starting of the summit today, it is increasingly unclear
whether this summit can actually help advance/achieve these goals or if
it could actually backfire/lead to counter-productive results.

s counter-productive/backfire s gl
¢ increasingly uncicar
Now the next sentence.
Al Mt ggesal
How can we translate thiz?
Student: Applicanis to tiie summit
Professor: No,
Ak sl 30 e (applicant
Student: Inventors, D !
_ E.E‘_E?%No. You mean inviters? What is the verb of this word? 1t is
invite s=. ‘Inviter’ is the one who inviies. But s=2all means the ‘invitee.’
» lnvitee yoia
Or you can put in the American way:
Who is invited?
Bnth ways are good.

e Mg "'_';'Lx;jiﬂn all - Yk o At v
i g ¥ all U‘ quSg‘! [R5} u.a.mu -L_mP_';L., \".)"“ Ui @\)"._\--'—:Ji b u‘}\

“Hee T T e e
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by s o iSag i o 3l S Jin e RS 3o s
Who is invited?
Now the next sentence:
g Aeadld upeay CHONER) Jg2 B ade g Ada plas ) pudd ol gaad A Al "-':&-’!"'J )
R
Stadent: This sunvnit that, involving leaders fram 110 countrics Joced
criticism because of a doubtful list of visitors
Professor: notice the parenthetical sentence is used to describe the tioun
here. | mean the main sentence is:

L il LAl yald

The summil, which ..., ...

Between these two commas here is the parenthetical sentence.

Why did you say ‘involvine’? Why do you like to use the —ing, a lot.
You can say convencs for &=, The most impodant thing iov me is to
potice and pay attention to the structure,

The translation can be:

The summit, which convenes leaders from 110 states, has already
received criticism for a questionable guest list.

Notice that ‘convenes’ is in the present simple, not ‘which involved' for
<o Sl Pay attention to this.

Now the next sentence:
oSl e dall ML e wsall G NNl dadla e Sy caall dguihy

sy Clnda et o Lggal ol ¥ JAal asan e 3oadlg hailgh g Gl y

Who wonld like to try? :

Student: according for an event focus....

Professar: Why *according’? you should say “for...”

:51:;1_9___;_ Fur an event that focus on anti-tyranny, a lot of invited
conmtiion—i-akizion, Philippines, Hollond aid Iraq for example not for
limis, has certainly @ weak democracy record.

Professor: This sasll ¥ JGdl Jgs (e has many translations in English.
For example you can say

o Tonameafow el ¥ Judl Jow Jo

It means you are going to fmention or name some.

Now the next sentence:

Cihaay, i a3l 1 ) e L Saas gl Agall A LN igls ol
i e Ay L lan)

Student: also having or making no ...may b confroversial io
ALmajar for instance...is the NTO ally...and the only country in the
European Union which has not been invited. It described its excluded as

~ Political Texts 3. 5+6+7 © AYD1 2022/ T2
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iorespectable.
dﬁ::ﬁ::‘cs@ﬂ D]if‘j‘ is Hungary.
i qry A2 "
;’oiil;ﬁﬁi:;&{ ;;1): ‘described its cm';lusion.l‘ When YOU U a verh afler
‘described’, you make a grammal; m:slakﬁ,'if you were in the exam, you
would lose i5 marks, “To exc'iude‘ I!lt:ﬂns Q"“;*“‘.’. b 5

Student: f‘” the event which focused on totalitarianism s maity of so-
called countries ... 3 ‘

Drofessor; No, here 823 docs "’10'5 mean Bavel; {i means invited, You
need to read the Arabic 1eX1 cOHECtY

Siudent: for the event which focused on totaditariaisn many of the
invited countries—Pakistan, Philippines, Holluida, Aé-trag to namy g Sfew
have surely ¢ weakly democratic register aned when iheys iy pe 1viapon,
this can be controversial io NATO ally and the other countries in sy
European Union that does not ... wodescribed excluded as not respecrable.,

Professor: for p s & il balafiud Caicay, | can say:

‘,..has cailed/described its exclusion disrespeciful.’

‘e Exclusion sagied 5l sLaly)

This text is not difficult, and 1 chose it on purpose because it has many
parenthetical sentences. | want you to pay attention to the parenthetical and
main sentences.

The next sentence. A "

5 o i il Biadl iy Al O (0 AT call ey

Student: The White House insists that its list have put to achieve ...

Professor: Have put? It is @3 Gy, You need to get io the intended
meaning. 1t is better to say:

s §prepare a list for the guesis,

« | design 2 list for the guests.

Lo these are two other ways,

Student: The White House insists that its list have put to ackieve the
mast degree of variation.

frofessor: "Have prepared’ also has a problem here. You should say
“was prepared.” This i the passive in the past.

Now‘&_ﬂiﬂ‘- O o= (= s (to maximize diversity). Sometimes the literal
tianslation hclp;‘s fo give the meaning; but other times, it does not, ok? But
to maximize is L2 3 el ol s ool and diversity is ¢ 4,

Stadent: Is variation wrong, )

Prgi‘esstﬂ:r: No it is_ not wrong. Variation and diversity niean ¢ sl But

there is EJ—U and there 15 ‘—lxa-L Vananoh can be i"l'.'-"‘"‘jll um Gia QSJ) -tJ-'ﬁ_

Political Texts 3. 5+647 . 6_'“__—_“
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e to waximize diversity
The next sentence: o
o A3l pat Lk o B ge o gleal ozl capll sl SN JAs
A pal) pie b g B (e il TLaah (pud Slagie¥t of LS bl jhaalt 210 24
« White House press secretary: pesil cudl sl i sl
“Inclusion or invitation is not a stamp of approval of their approach to

democracy...nor is exclusion a stamp of the opposite of that—
disapproval,” said White House press secretary. _
- g

You have the following text:
laloy Vi s ins 3,58 BUS Gle 5l g ekl S
1 SLELEy el 3y o155 om Tt I il e s BalSabe 32 g plate

ol eaen Siga3 oo (a3 2 cudy o S Y o ya ¥t Letally I ISy Loy
| O sl e Gadsdll gle 333y gl 511681 e bl 8 ¢ hy3 |
 Student; What is of G on BN? B

Professor: You can say:

« Prompted by (the fact/desire) that: (o Wbsla— e ghsa

However, ¢ Wikl cannot be translated jist like that. If 1 tell you for
example: : ' i

E:Ji F| Suas (yA L‘?!)Uﬂ:"

155 156 Uiy ol ) A a1 g5 0 1D
Here, in this case, you cannot use ‘as.’ You cannot but use ‘prompted
by." This is the political translation.
If you want to use ‘as long as’ you can
As long as a person has an ability to write an idea, he/she must not
ignove il
You need to use ‘*he/she’ so you would net be branded zs anti-feminists.
Stadsat: Can we say ‘one’ for gasi?
Trefessor: You can.
it ahaial Ay clallhl lalina (e 1y G Al Aaals (e 4S1S 5 4gd il L3
: s Calie
As long as, the best translation for it is; Lt i Lalla
- As long as we are friends, ali probleims will be solved.
_ i M el Jat el Ll LU
YU“” have to pay attention to this. Howzver, if vou get a text which you
need {o translated, and which'is one biock, you need to be able to dissect

the iemences and the ideas well. Translators suffer from this thing very
much.

palitical Texts 3, 5 Y
itical Texts 3, 54647 7 AYDI 2022/ T2
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_ e 1658 ol Al S
iy Ad’?_ﬁ'j)utu%_)-‘ﬂt&“l padd U Ju ) o Vi iy

OsSs gall 514 ol gl anf egh than)y AaaSy Claen 235
ﬁ&u.wﬂww o _unﬂi‘:.]:iﬂﬂt_;__,g&j‘j}

cident: SO cAR’l We USE ‘prompted by’ ina literary text?

Lindent:. oY v

!’l‘_lfl,’ssﬂr: gt ‘.‘ . L_I:-A g, .
SEEESEE Ak g0 H (o geeill 230 e 13S0 i of gy v

For example:
o Prompted by our duty as pai

¢ Prompted by the desire...

lamnentarians, ... ol 38 Ul O i
=) (:J'“ Em:

Student: Can we cdit the o .';':‘,ij.‘:':i tcxt?_ :

Professor: No. you canno edii the f)riglnal text you are translating; j1
is not of your right as a trans:atoi fo edit, to put forward o: backward a:
word or phrase in the original wx{. You are a translater not an author. P:ﬁ;
attention to this.

Thank You

HELLO EVERYONE!
We have the following text:
Fw s i€l Tl B R o] o hes 2 Ll il ol il |
Ly g s iyl

s Baiie o L LG B G s 35k g B bl il plh el JB
Slo lakall Luplel "Tuan’ S ool lgaiaiog A ylay "aludll” cud )y iste S Bl :
il B30yl gy Ralile 055 O oa ot Lo

B 2 o hage Bppull RagSall €8 La o Ll gan 4l 3ss i JB
saoll 3Skally sustll @l¥sll o 2 Aubin 301y 208 Labsle i 241l Bgla
e e daiall Luplel Ludy2y

e e Oy IS | o geaidl dag Lo ustl ¥ glly samall ASLall ol el
¥ Oply3al) ¥3mg Laghlalipn (sl s Ao A1 taon Ralie g Lot ol
el g8 Uy 0ty plitly 2. asld ey odi” g BB Ls Sl Dsa
Mtlhan 138 Gl Gluy ad Gl i Bke)) 3l laa eliie S guL.}J'a

S5 TSR AR e ML - .“‘_‘Lais _3.‘1-.'1 L;rh
Peloee T - . “H_-_ = __.___-—-—-
| SH6e7 g AV e/ T2
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sl Gl 52 Vit 78 Ao B0 g S 1 B w5 A6 O |
e 2 Oapaten iy Pl el e {5 a3 ol Tt B3 S ! \3ads |

e JSB 03B M Lose Gl e olatul uud pade ol laly Spish eda
JLA:-']"I skl LaBay -..:Lb:,.n. Ji-'.'- ;-_ u\'.....m_-'l'l 1

Let us begin with the title:

ol ag et 3 paa Akl Aalul) ki o g ke W cpaall 0as 0t il
13 gt 2

Studeni: British Ambassacor in Damascus said. “chentical weapons
organization is used as a doll in the hands of the West against Syria.

Professor: no need Lo say is used as; just say if 7s.

Now 4, it is better 1o say pupper. You can play with 2 puppet as you
like.

it is better to say: it is 2 western puppet against Syria.

[ 10ld you previousiy; whenever you are cornered you can €0 to the
titeral translation. Only when you are cornered.

+ Ex-/former (&l

» Ambassador (to a country)

¢ OPCW (Organization for Prevention of Chemlcal Weapons)
IV PR _,laa.-t.&.u

o Puppet 4

¢ Pressure bu.al

o technical control organization i) 48, dakiia

L3

Now ihe next paragi -aph:
“”“"‘-‘-"*“‘-J‘ S 'Lé.:.i,, a):ﬂ,.mh)}ﬂ@&@! ‘Ju).\.i _}aim:ﬂ;v'
USSP RV O L FRCUL ),Ji loaihuny &3 ylay "obaaill? ia i Agigandll 3L
Al A8l 3 g3 Adaie (59 0 e Y g
Stadent: Former British amhassador said to Press TV it is a disaster
that the OPCW ...
Professor: What is the OPCW?
Studen(; Organization for Preventing Chemical Weapons
Professor: Now what is Sl cus 5239
Stugeni: Corruptes,
Drofegsor: Yes.
Student: Lormer British ambassador said fo Press TV that it is a
disaster that the OPCW is corrupted in a way it is used by the West as a
puppel to excrcise pressure on Syria instead of being an infernational

Political Texts 3. 5+6+7 9 AYD1 2022/ T2
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technical contral organization.

Professor: = : " g
S Aag il 8 alBY) e BhEe G ey i e
Wc can say, . - o L et T )

Former Britlsh ambassador said to Press TV thai it is o t‘is::;“‘:er that |
the OPCW is “corrupted” in a way it is used by the Waet sz 2 ‘Pupser’ 1o |
exercise pressure on Syria instead of being an infermaiional technical i
control organization.

"~ Now the next part:

LN L ol Tpdie Dusmd) fastadl 4,8 L & Ll 3i 4 3,8 oy 8

_mua.j faniall bl e |'r" Loy ..-1 ul W -bl:.\. 2l ol faalidt -u_,aus.l
Geed e bl A Ll il g saand

Studeni: Peier Ford said thot he lom.{r agrees with et the Svrian
government has repeated recently that the internatio il chenical c:c:n‘:'f'm'
copunittee is no longer a tecluical organization but it is enly u political
tool which used by the ...

Professor: “poittical tool which used by the..?there is a grammar
mistake here.

Student: a political tool which was used by the...

Professor: Yes. So if you want to only say “it is only a political tool
used by...” This “used” would be an adjective and it would be correct in
this case. However, if you add “which”, you need to pay attention

Whalt is dsia du jlas?

Student: Exercise.

Professor: Yes,

Student: Exert.

Professur: OK.

Studeat: Fxpericunce

Professiv: No,

Student: To put pres-tre on.

Professer: Yes, you can say this.

Your inanstation is geod! 1f this paragraph was allotted 5 marks, you get
4 Gul 20 0. Your siructure is sound. But you only have one mistake.

Student: 1 icsearched %) Lugh online, and 1 found it to be
“reguiating commiitee,”

Professer: Yes, this is its formal name. However, the cheice * ‘controt
cotmities” gives the meaning,
gl pi sy oot Led il 5380 gy ped B s Rt J 8 Gl i B g

W ol oS el ot of o)y

" Political Texts 3. 5+6+7 10 AYDI2022/T2
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Syrian Commission for Family Affairs.
nid you get the point?
Now ihe nexl paragraph:
& L LS oy puadl "'!:3 (e Baldi gy gl Basdall Asled o il
by bl O _a.-.ls;sme Aiesstl) ALY e At tig) LR 8 6
g ity OB (B Al G ORI G Bl U s (g o Y aﬁ:wﬁ
5 g s o e Sl Gkl e Rkl o b el qundi 36
. .Ild“u \,&-‘l U}; l%_-i‘m
who would like to try?
swdent: What is L6 i sy
Professor: Regulatory authorities. This is Sl dugd This is what it
means in Exglish.
Stadent: What is G ot e .07
Prglessors i means cheal glo SO op 2 SR,
Student: So there are some ueadzsmie terms for politics?
Professor: Yes, and it is a matter of low or high formality; for
example, take these two sentences in Arabic:
it gl 2ls -

M&&aﬂlﬂ =

We have these two words; each one has a level of formality.

In English, you can say:

- ‘This person is mean. '

- He is stingy.

When the text is political, it would be in a high formality. When the
word in the poiitical text is a low furmality word, then you have fo pu it
between bracket:.

N

TR B

P sk Saetadl e
i AalSh et IR RN
RV

Fhash

U= 8 ,'.L.u-::- LYS P G pia Juate

Let us go back to the text.
« Responsible for (F Jsk
» Provide 43
s Officials Olssan
Neutrality 4=

s Credibility Adlse

Student: He added that the UK and ihe US in particular were
responsible about this issue Decanse they provided the OPC W owith
officials from their own adminisirations and these officials diel not respect
the neurrality of the regulatory authorities, rather they “do whal thoir

—
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masiers ' wishes in Washinglon aned London. That is the main reason why
the OPCW is going on well to lose ils credibility completely.

professor: You should say “put raiher” instead of rather alone.

g . i L1 I :.i “thi\' »

Also, instead of “that”, you shou:d say “1his.

You have a problem in: '

«__they ‘do what their masters wishes in Washington and London '....

You should say:

“..they ‘do what their masters in Washington and London wish ... "

This is the correct structure.

Now the last paragraph: N
EHE bl sl Anlay 4 R o A8 neps BB c A Skl g
A aaiug Iy i ol o 53 ) s ad b SV pgite ¥ et g g Ly pd
wa O 3L A Y B s s i agle OF cilaly MA0E ula ey

; "_‘-",.-.'.' Wi sk ‘..3333 i.'-a:.._.‘_;:‘-i‘- _':..& _/,*., :N.’I_q'l.,\d;i}

What is < yig?

- Admit 2 3 Jaxiid | Gy

- Confess syl LSl A G yiay gaddl ) S (Saa il e

Professor: [ would prefer admit.

Whe would like to try now?

Student: On another part, Ford said, “The Westren powers needed a
Justification to their unlegal attack against Syria, and that is why they can
never admit that it happened based on false base, so they keep supporting
ithis lie. " He added they had to justify their cortinwous war on Syria

Professor: What is sl 1ali ga?

Siusdent: From a different point of view.

I sgr: No.

Studzat: In another side?

Professor: No. it is on the other i,

Piofessor: And it is not “westren’. It is “westera.” This is a speiling
misiake here.

Student: Do we capitalize ‘Western'?

Professor: Of course we do.

Student: ‘unlegal’ is not correct.

Professor: Yes. it is ‘iilegal.’

Now what is (b o e 25.0ll39

Stadent: On falec foundations.

Professor: w4 yes, or you can say ‘on a false base.’

Student: What is Ly (e pen Jl p<ind 35 pgile?

Political Texts 3. 5+6+7 12 AYDI 2022/ T2
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rofessor: They have to
Syr_l:;______. Y justify the continuation of their war agamst
Student: Do we say “on Syria” or “against Sy1ia”?
professor: Forliss (e cinll you can say-
o The war against Syria
o The war on Sviia
Both are correct,
o Regulatory suthority 448, 4
o Admit/eunfess v S
o On the other hand A0 dsl o
o Mlegal §asds né
¢ Justification 8
e On a false buse Jbb Gulal s
We can say,

They have to ju* ti%y their contintious war a _,amst Sy sia wehsich takes the
form of an econoinic war in terms of iimposing sanctions and stoppmg i
rebuilding.

Student: Can we say reconstruction for Jleey!33e)?
Professor: Yes.

o Reconstruction/rebuilding Je¥l 332}

o Takes the form of JS& 33U

o Fconomic war &dual o )a

s Impose waski

e Sanctions <l

Thank You

mrf'rmzi« NO-T i

29.01.2022

HELLO EVERYONE!
We have the following text:
R  ADealisstill Possible in Syria g
AsU. S ‘President Joe Biden and his team focus on the Iran nuclear ﬁie.
the war in Syria remains a festering wound at the heart of the Middle
East. Although the current administration has made no dramatic
partures from the approach of previous administrations, its decision

lical Texts 3, 5+6+7 AYDI 2022/ T2
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to deprioritize the conflict comes at 2 particularly bad .t;me,,
Jution to the Syria crivis arc now emerging—

Opportunities to find a so : ;
and the United States should devote the diplomatic energy necessary to

seize them. The keys to success after years cof failure include not just
high-leve! engagement but a realistic assessment of what can he
achieved in any deal. The risks in keeping Syria on the back burmer arc

significant. ‘
Senioi Biden administration officials have signaled repeatedly that

they ars riot inferested in a major effort to rescive the Syrian conflict. As
the situstion shifts and a possible compromise takes shape, they should
reevaluate that decision. Although U.S. attention concerning lran is
dominated by the crucia! nuclear program negotiations rather than
Tehran’s regional acticns, as soon zs the adminicizstion has more clarity
on where things stand on those talks, it should engage seviously en
Syria. The dangors of ignoring the conflict, and the potential benefits of
reaching z deal. are too significant to let an oppao:tuniiy pass. |
E b

Let us begin with the first paragraph:

o festering wound iz

» approach agda

e depolarize Luslsl AL

o emerge 4

e devote 0%

o high-levei ¢ $eesll A=

s Assessment g

o deal i3

Now the first sentence: -

As U.S, Presiden{ loe Biden and his team focus on ihe Iran nuclear
iile, the war in Syric remains a fesiering wound at the heart of the
Middle East.

Student:

L o undt O gt gl e e 43 i 0ol g (Sl s ) 2SS pa
S EVREY L (U ) PR PR R E RN Y

Professor: ok! Another translation?

Student: .
gt ikl e 038 0 4y Galb a AS0aY Saaall ¥l Gy ol LS,

e MCB L PP S PN P PP P [P TN

Professor: Here, we have a contrast 48 ,lis , We should translate the

~ Political Texts 3. 5467 . AYDI 2022/ 12
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word ‘as’ like this: g3 iy 3

first
Weeansay,
T T Sy —— R
Be 2 IO > el Gl 4 5 g cag s |
Then we have the rest of the idea: RSO SN 8 AN
__..-——""""“'_.‘I e e il detuniptivinc - Sttt L

[ Jau ¥ 3,50 (b 2, Lo | R ,
le e i ’_ ‘_q.__'_;L = .L"P.- e liygn & ot o
So this “as’ gives & meaning of contrast, e

Now the next senience:

Although the cvrrent admini i ) .
separt ¢s from the ; - nistration las made no dramstic
gepar lfr s -tpillmad: of previous administrations, its decision
{o deprivritize the conilict comes at a particularly bad time

Student:

::'I-Tr’ol 1o = [ . i o
oLl S JA R Slmgta (o G sael o {580 Jent G Aladt s a0 o et L

Y -u = iewiy ey gt ’ .’ 4 ' R Ot Lo
rrofessor: What did you s:y? You can say for dramatic o alse vou
can Say =S, H !

How do we translate “departure™?

Studeint: 8 aa

Professor: No. Do not go to the literal translation. It is not 5 3,

Departure from something means you are stopping doing this thing.
Here there is a departure from an approach.

We can say:

el taphd o 2kl G 26 oo S S wad @128 B ol Ly
Rl e 3y 2 Sl ghyeall gl

- Deprioritize A s¥! 3l

Now the next sentence:

Opportunifies to find n colution fo the Syria crisis are uow
enterging—-and tie Paried Sfates shonld fevole the diplomatic energy
necessary to seize ther.

Student: .

o A a00 aaniall il gl iy O D sltlly o Lo g L s Y paf
o patad (S Y G shaa) B

Professor: To seize here you translated it as pa palail Please dear, stop
translating literally! Does this make sense? )
3 fopail (a palal)
In English, when they say in this collocation: ‘to seize opportunity’,
what does it mean?

Student: La il 325

Professor: Yes! So when you know the collocations, this noun comes

— ’ T2
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with this verb, you will know the meaning.
Youcansay: ___  ————————r — ;

‘h-'*‘uﬂ“ s Bamill oYl Gle e 31 ettty 3aT Apygult 2433 Jobett ]

' Lgelize Lot 2bostoadl |

T e
(T oyt 30l TSl oty 31 bl sgle - Rpaged A0 Jet |

Lgalzz¥ 2ajdll :@-h;,l_:;!j

Or you can say: A e i sty

i i T os ol s
el aghyall Bl o S5 3aill bVl e ozt TR R PR S U PO |

' Lgalinay a‘_uﬁi_j

“Why did we say GaB2 not ta Ly
;;—.”‘“u"" “1‘!‘3 o=
() e L) se S
Here, the real identity of the transiator would appear. It the translator
would like to the crisis in Syria to be solved, he would say “les82Y; here
they are saying that the opportunities are emerging.
s to seize opportunity L il 5k — Lo il Jeiuy
The next sentence:
The keys to success after years of failure include not just high-level

engagement but a realistic assessment of what can be achieved in any

deal.

Student:
Al gaall Lol Jee M it £l d::-a}t Ge buae O g 3y el sl

R PRCRTI BN CO SESPRAAE S saiane Y Gt _;i G Adiad Sa) L s sl

Professor: OK, how did you liahsiate deci in ihie nide?

k‘éﬂ&@@i Il,_\J_:.u &’.i 1ica :_ji__"n._f}' l‘:"_:‘l 5_i.."n. h;'.:

Professer: deai is not 345,

Stedent: i,

Professor: Yes,

So lj.e.*e ! woqld like to dvaw your attention to something in translation.
E::fevéi i‘;}?ﬁ;g':gﬁ“"’_ﬂ‘*d :jf’_“-"iﬂﬂi'lc)’- ‘\."uu translated deal as “M in the
o e s p it as 4ia ipy the text; and if you tronslate it as 34l in
the title, you should keep it the same in the text

Now deal is actnally not G4, ‘

e Agreement &l

» Convention Ll

» Deal ics
Political Texts 3. 5+6+7 1 e
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’ l o s aii E 'E ‘1 i i H ”
L,?J‘d!.ui Jay a8 lgaual Gl U"‘“@Ju";hllviiihal.__ﬁelgu,htsl

' U rHOA v
gomething else. You started your transiation as: ¢ ]
.30 “:'IJl“ h-lc‘a.l]'l (‘1‘*‘

nee and what is before it? if you
hould put the verb first,

Where is the link between this septe
dod not link it with what is before, you s
Student: ;
‘J] @)‘&l‘imlf 1L. rL,y_tll ujﬂ (€N Jé-Lu Wiy 3._3)}31 ““\-A__:‘:L." J= .:'1;_1‘; UaJm
i n e Sl Ol gl sl ol 152 Bl Wagen (5 e

, o rling
Professor: Verd good! You used <. You should fink it with what is

pefore it because this is one whole paragraph. It i just like when you are
writing an essay, where you link sentences tog=iher o support the idea
right? I
Dioa (gl o 450 gy L Bl g ool Lt g it Ee 3 Ll Jui a2 Y
Now the last sentence:

The risks in keeping Syria on the back burner are significant.
Student:

e S e SN 3 ) g oy 5 ) 5haa Y

Professor: Where is 0¥? b )

Student: 1 linked it with what is before.

Professor: No! Be careful here. You are expressing a result. There is
no result here. ;

What is *a back burnei’?

When you keep someone in the back hutner, this means you are leaving
him/her alone.

Ging ¥ cakasdi a5 h bl el i yhas
Jt means you are kceping somebody on his owir status and o2 his own

Situation.

The translation would be:

i_ 3)14.35 ‘_-..Ic:l.‘i.a ) “.)"-‘.‘l ".':"1 BLESTI TSR Y e 1.34-:\4- ;‘.:-.;' EJ}L:.':}
o Keep in the back burner A% & (A

Ak
The second paragraph: i gt
e Senior officials (sl s DS ¢ Repeatedly 1_;?54; s
» Compromise 4 o reevaluate a2
= clarity g s2 o regional = B
o Talks “ilas » engage seriously Tam ks
- ———E T
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Scanned with CamScanner



o ignore Jslak o Conflictglr—=
e Potential Jaia o Dezl dila

o Opporiuniiy A

Let us begin with the first sentence:

Senior Biden administration officials liave signaled repeatediy that

they are uot interested in a major effort to resolve the Syrian conflict,

Student:
Jad gl < yea ol aEY Ll sae <l e b tal caled ol B Ol ggueali S
gl gl
Professer: Ok. We all know that in Arabic, we start with the verb, then
the subject When do 1 usually start with ¢/? We start with it when the
sentence is 4 compouad ventence, 2 very Jong sentence. Here the seatence

is not verv lanp.

Studeni: ) ,
dad oo e s ST Gpadge it pell foana ol Tlpe Ga 3 0 1olpgien LS S5

gyt 8 F ) puall
Professoi: You forgot to transiate “senior.” Odlyseadi JUS. Who would
like to read also?
Student: ' . 2
Gl g1 pall Jad sga Sy A Taiga g Ll (A T SRS el
Professor: You did not mention about the senior officials at all!
" Student: Can we use 3,7
Professor: it is ok.
The translation would be: . S

Jod i aem Jdo Oveige o3 el L LUST) Dle Ol 50t dadua ST U3, ]
.‘:{).g,u.“ §lpat E

Now the next sent=nee:
As the situation - hifis, and a possible compromise tskes shape, they
should reevainate i::e decision.
Student:
priibale) ¢ gdypanall (e oo ity ) 3 Ry pudi 4 Canlig g gl 4y oA il B
Sl
Professor: Do not use a4 in Avabic. 1t is common mistake b Uas,
Another translation?
Student: .
138 i 52l ) pgle (s LIS bl RS 3 gucill y L) 44 0 535 Ml e ) B
S
Professor: Good!

pomm—
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iudent:
e —
DI puii ke agale Gany oS L 0
M&&_ Here_we have ‘a possible coln
i Arabic?

Grudents Aiaa A pudd

Jcn-aJM-Lu_)_n.u *Jli;_u‘,.“
Promise.” What doe sit mear

I ;Q{c\scr. Yes,
Stuidents =5 >
_12‘2.["_‘.5_‘-’5-: it 194—-}0 nere,
The translation would be:

— e 75
BIFRREP - Lcldeh‘-w__uﬂ_md“w ; e

Notice how 1 trapslaied '-L‘S'”“Jc-ﬂﬁ PPV
oLd ransiated o ht.c 'Mﬂ' ,r] \thr} n“ e : f“—"
conversion of the line of reasoning with what is before ¢ D :m": i
= this, Does it make

sense now?

Mow the next senience:
Although U.S. attention concerning Iran is domisated by 1
crucial nuclear program negotiations rather than Tehran's re um*:‘
actions, as scon as the administration has more clarity on where ihings
stand on those talks, it should engage scriously on Syria. ®
Student:
yS‘fL!-“lﬁ.JJ"lHﬁ*‘hJ‘gl‘: L_!_)I:u.mq.l“ U‘)]LlJJ..aM\SAJMi‘nm‘uliuﬂ?&)l{J
Il olad g e 3 Gy b (e . Apaliyl ol Jadl 1Y) Aty Leadl (pa
iaa L el pilly a‘-m‘m-}hﬁlﬁl‘: olyin fidi

Professor: others?
lf‘l'(.,(‘ .Lgs_-‘su.‘at_lfa:l.u ,L|;l):‘s)}a;a&ﬁi‘.m1dlw?;).wh

Lg.!.c Lﬂ, l,.:l.un ;u.nl'l L.....L :L:pJ \g_ﬁ adi 2k u.__ hlx_-a_}.- e P ‘-AA-IL\,“ U!_)'i'j’ L}-.n_‘ll 1 "l
‘_'_,._.“ -Lu.a.d.-i ?u&-all_a.'l

Proiessor: Other tfransiaticns '
.‘mu!cnt

Al el e Yy Sl il e s s S pleiad! O e at M e

eaon
Professor: you are no not gefting the 1d idea here!
albgiis Lle g ob et UL.LJ ER A asall ol fuLs.uh'i U‘ Oe pedl Gl |

" i
L ja 3;.1)?1 J..\j ,;-_95«' "1 -.)"—‘“3 lwﬂ‘ﬂ ol -" LJL""“ o L“ Lewlaell 3 o4 wb)‘j l

L!)_su 2__ 4.;_!.:-_1 -.[:I 234 Lg._n.'..’- u._a ....\h.'f't::l' Gl ‘Jﬁ u'.ﬁ}“ ULH-J t .43.11 "’j

EE—

Now the next sentence: henefits of
¢ dangers of ignoring the conflict, and the potential benelits

hing a deal. are (00 significant to let an oppnrtumtv pass. .
| 19 AYDI 2022/ T2
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Student:

g Y cus s 80 A ) Jpno gl (8 Aldinadt il yilly g1 alt 503 jllan oy
43 43 :‘-.-.a_)ﬂi

Professor: Ok.

Student:

2a pgn Aiea () g gll plnall o 200805 7 peall Jalad e A5 i Jlia g
il SLediy

Professor: you have ‘to let an oppoitunity pass.’

Studeat:
odn gluial dpaa ¥l ity Lan Adhead oo gl (e B 5n sl W gill 5 £ pali dalas lg,
J...._:_“,iﬂ

Professor; o il glazl?
The transiation can be:

E\."J:‘.H."l s 3_,,‘1::5 ‘).bl.éu.g (5 Adaes S n)'dﬂ-"-A‘n.l alsimeli cilgalla 6"-}.,;11 L—"’L?-" .)_[:,1:,_‘--' i
i -L;-_f-_u-’-” Lj-* ;:)5 :"'\-la‘\-.‘-’r _J?J.A'u ?tm.m.lii

You have to put an emphasis on the dangers and the benefits; you have

{o say 68 Hhlaa,
Thank You

Page: ayalhil Cilasall saflell dungo
GIOI{DZ daoz pll P tn_agjr:,nﬁ F»cqlo_i" - sadflell £4iss
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